DDF4i# & S B sk ) 2= 5E 93 1% 5

Multiport Swivel

grip

DDF

Operating mode:

DDFOSO The compressed air is routed through channels inside the DDF. This
prevents twisting of the pneumatic lines in endless rotary

motions.

light and robust

ISO-flange

no twisting of the air conduction

quick connection of pneumatic tubes
Interface according to DIN EN I1SO 9409-1

Swivel
&
Energy
-Coupling
Technical specifications DDF050
3 Basic material Al.anod., SS
hegs & ER . Compressed air, filtered
& Medium . )
— e oiled und unoiled
R/E -
MiEEESR Operating pressure range 0 to 8 bar
Number of ducrs 4
Tube external diameter 6 mm
Threaded connection comp. air M5
Dead weight 690 g
Max. speed 60/ min
Initial torque 1 Nm
Ambient temperature 5-40°C

Mounting flange

according to I1SO9409-1

pos. | Descriptin

1 Flange

Ring

Disk

Piston seal

Grooved ball bearing

Counter-sunk screw

Setscrew

G-DDF050-2-4/NW4  with grooved ball bearing + universal seals 4 x air

Replacement gasket kit...

EG-DDF050-2-DS-4 for 4 x air DDF050 with grooveed ball bearing

Straight connection

O 00 N OO0 1 »h W N

Fitting Screw

© Bt LAEMhERS B BEZHHLETREED - © WEEMEMLRHERRISNELT -

I EERRDNRAERA23 e-mail: info@acedanyao.com www.acedanyao.com
Room 711, Building 1, No.1-9, Lane 99, Shenmei Road, Pudong New District,Shanghai 201318, CHINA ~ Tel:+86-21-6819-8501~2 Fax:+86-21-6819-8503

woo'py-oeAuep@ojul : lew-3 g~ |0G8 6189-120 BT E Sz L RIEE(T S U Xy



IRiNFRE: DEElSaRgaERAz 021-6819 8501~2 E-mail : info@danyao-itd.com

DDF4RERERAZINIEE g 1 P

Multiport Swivel

DDOF

A-A
DDFO50
b2 3
235 I 2 ~—
s @ 4388
1 —— =Y
W
Rro=S0 ﬁ_ =] /s AN R ﬂ
- | 4 an]
al = & o - - EJ:
88 pl——— 713 % fsi =t —
Big . e
— —] \ - oy p —
: N2 ¥a
. : == A
| z ‘ %, Swivel
| 1L &
) Energy
e -Coupling
34
— =
mER
Jird Cb ]
&
R/E8
1 Flange G-DDF050-5-1.1 1 MhiREHERE
2 Ring G-DDF050-5-2.1 1
3 Disk G-DDF050-2-3.1 1
4 Piston seal KDN 50x37,9x2,1 5
5  Deep groove ball bearing 61810-2RS1 2
6  Counter-sunk screw DIN 7991 M3x8 galvanized 4
7  Setscrew DIN 913 M5x5 galvanized 4
8  Straight connection assembly KJS06 M5 8
9  Fitting screw 1SO 7379 M5x10 2
8.1 Spare and wear parts, depending on size
4 Piston seal KDN 50x37, 9x2, 1 5
DDF F[E4iBiShEs I Multiport Swivel
@ HRig: 178
@ AM2E4AERBER S EEEEoIREREE
O BSEERRAN - ESE - BiEE(
@ [HlEZ=REiRALD
@ HBBAMEKIHERESEE)
@ 2D& 3Dz
© B LAENERST . HATWEED - © NEEMEMLEHRER SN ELT -
www.acedanyao.com e-mail: info@acedanyao.com I EERRDRRBRA2I

Room 711, Building 1, No.1-9, Lane 99, Shenmei Road, Pudong New District,Shanghai 201318, CHINA ~ Tel:+86-21-6819-8501~2 Fax:+86-21-6819-8503




